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QUESTION 1

User USER1 holds both DBADM and SECADM authority and you want to separate database administration activities
from security administration tasks. What authority must you have in order to revoke SECADM authority from user
USER1 and assign it to someone else?

A. DBADM

B. DBCTRL

C. SECADM

D. DBMAINT

Correct Answer: C

QUESTION 2

If the following command is executed: CREATE DATABASE test What is the page size (in kilobytes) of the database?
A 4

B.8

C.16

D. 32

Correct Answer: A

QUESTION 3

What are INSTEAD OF triggers used for?

A. To update data in other tables.

B. To perform insert, update, and delete operations against complex views.
C. To check or modify values before they are actually stored in a database.
D. To run non-database operations that are coded in user-defined functions.

Correct Answer: B

QUESTION 4

Which type of constraint can be used to tell the DB2 Optimizer that a parent-child relationship exists between two tables,
but that the relationship is not enforced?
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A. Check

B. Unique

C. Referential
D. Informational

Correct Answer: D

QUESTION 5

Which DB2 object limits the user\\'s ability to retrieve data from a table by defining a SQL statement in the object?
A. View

B. Index

C. Trigger

D. Check constraint

Correct Answer: A
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